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Read the following statements aboy,
Parivar Pehehan Patra Yojana' @

(i) Under the scheme authentic ang
reliable  database  of all the
fumilics of Ilaryana is being
created,

(ii) All the existing schemes such as
various scholarships and
subsidies will be linked with
Parivar Pehchan Patra,

Choose the correct code :

[1] Only statement (i) is true.
[2] Only statement (ii) is true.
[3] Neither (i) nor (ii) is truc.

[4] Both (i) and (ii) arc true.

89, Which of the following temples is

90.

situated in Kaithal ?

[1] Sarveshwar Mahadev Temple

[2] Birla Temple

[3] Ambekeshwar Mahadev Temple
|4] Panchmukhi Temple

On which occasion 'Khodia Dance' is
performed in Haryana ?

[1] On the occasion of Holi

[2] On the occasion of Wedding

[3] On the occasion of Teej

[4] On the occasion of Goga Navami

Level-1/701 .
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AT - IV (PART - IV)
TR (MATHEMATICS)

o1, Rl A & oy olt &t it gfx &1

T 3igr 450% T 8¢ 400% B S
5
%umaﬁﬁﬂ:—(—ﬁ,tﬁgﬁm
)

2

[1] 576 [2] 7/8

(3] 9/11 [4] 7/12

M w20 Ref/de @ fex o @
T gU d% §H W REwE g
ST B AR g' 30 fl/der @ Ry
aw q °9, o 18 e tea faEeE
%° e ¥ oW A R @

91,

[‘;D‘Vl‘
—“"/
If numerator of a fraction }iS'
increased by  450% and lu“‘
denominator is increased by 400%.
15 e
Now the new fraction 15 T(;
original fraction 18 :
[1] 5/6 (2] 7/8
(3] 9/11 (4] 7/12
ed of

Ravi moving with constant 5p¢
20 km/h from his home, reaches
school on time. If he moves with 30
km/h, then rcaches 18 minutes
before  school time. Distance of
school from his home is :

[1] 18 &I [2] 12 ft [1] 18 km [2] 12 km

[3] 16 f&t [4] 24 ft [3] 16 km [4] 24 km
20 3% Fd 3 RT & (SPACE FOR ROUGH WORK)
/Io
30 3
2

12

2y

(14
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93, )8(”")36,(()8(»1»-7hx712 742

()8()\( ()R() . ‘)8(’ N SRy S mr
X 74" ’) 49
T o 4 742 %742

[1] 1044
12] 344
13] 144
(4] 244

94, ﬁme’hmﬁﬁWWW
o 8 S E 8 Al g
A
[1] 40 =g
[2] 64 ad
[3] 56 T

(4] 3T & HT THa, b STaaie

A

T B LTS AR A Y

93, Valuc of
98() o ‘)8() X ‘)8() 742 %742 % 742

986 % 986+ 086 x 742+ 742 % 747 8
(1] 1044

[2] 344

[3] 144

[4] 244

94. The ratio of present age of Ramesh
and his daughter is 8 : 5, after 8 years
ratio of their ages will be 3 : 2, then
the present age of the daughter is :

[1] 40 ycars
[2] 64 ycars
[3] 56 years

[4] Insufficient
determined

data, cannot be

446 T Fd % [fC T (SPACE FOR ROUGH WORK)
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(+7]
‘e

oh 4 F 1 519, 50 Y ofw 25 W@
3 fogd Faa: 7 0 8 ¢ 12 & Iru §
¥ ooR A A Fw A 560 G B,
B % 25 42 3 Rt o T B

[1] 120
[2] 240
[3] 480
[4] 360
w O F 4 Ah, 3 Fel S dieR
R E AT aghes w7 A @R N

& W PRt o ¥ AN TR o
T H B B R ®

[25]

TR VL S I A W Sl S BRSO S e T
et Y A%

[:Dl

95. A bag contains coins of Rs. 1, 50 pais?

and 25 paisa in the ratio 7 : 8 ° 12

respectively. If the total amount in the
bag is Rs. 560, then the number of 25

paisa coins in the bag is :
[1] 120
[2] 240
[3] 480

[4] 360

A bag contains 4 blue. 3 black and 5
yellow balls. At random twoO balls
the bag. The

are drawn from

probability that both drawn balls are

of same colour is :

[1] 19/66 [2] 29/66 [1] 19766~ [2] 29/66
[3] 1/6 [4] 17/66 [3] 1/6 (4] 17/66

<% % 3 [T e (SPACE FORROUGH WORK)
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[1] ST
[2] Sraehy
[3] S
[4] TR

98/ T WA 30% T e & L 3

W%Wsﬁﬁwﬁ%?ﬂwmo

[1] 110 [2] 50. ..

[3] 60 [4] 90

97.

A student  will us¢ higipe

Mathematical opcrations’ know]cdg(3
to calculate the total amount to y,
paid to a vegetable seller. Which o
the following teaching objective jg
used in this situation ?

[1] Knowledge
[2] Understanding
[3] Application
[4] Creativity

If 30% of a number is cqual to —é— of

the second number and the sum of

these numbers is 140, then the value

of larger number is :

[1] 110 [2] 50

[3] 60 [4] 90

,‘_’L
2

253 j}ﬂoﬂ

\O

3
6 .

%, o m {6 4 & T e (SPACE FOR ROUGH WORK)
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|
(21 | &
;;]?11\% SR ol AT +. 4 B 99, Ratio” of yolumes of two cones i
R AR A 41 5 B GTI‘ ] | ;4 and their diameters arc in th
G, & I Fend o o b catio d ¢ 5 respectively, then patio i0
their heights is
[1] 5:16 (15516
(2] 25: 064 L [2] 25564
13] 3:4 (3] 3:4
|4] 64:25 [4] 64:25

100.% 0% N % oarg A den @ 100. Number of diameters in a circle €an

® be :
(1] 1 2] 2 (1 2] 2
Bl 4 [4] ST 13] 4 [4] Infinite

101 FrfaRad ¥ f9-ar P F A j01. Whichof the following does nof depict

the knowledge of mathematics ?

F 7 s & 7

[1] HEwBT [1] Exactness

[2] er&geed [2] Ambiguous
(3] SFaRed [3] Systcmatic
(4] B [4] Logical

<% % & RiC S (SPACE FOR ROUGH WORK)
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O sreif oy ¢
Bl T w3 aw ane
i oy ay ¥
[4] ﬁ?ﬂﬂmm%gﬁmw
BT AR T e By

s o By A & gt s 4, @

%’T‘ﬂw%ﬂmﬁwaﬁwaﬁ%:
(1] =g
[2] Bter
[3] T=R
[4] afrer

[28]

Which of the following statement g

correct about types of tests ?

[1] Essay type tests are based op
whole curriculum.

[2] Objective  type  tests
indefinite and unlimited.

are

[3] Objective type tests are more
rcliable and valid.

[4] Essay type tests can not assess
the thought expression.

If two sides of a triangle are unequal,
then opposite angle of larger side is :
[1] greater

[2] small

[3] equal

[4] half

& % #.3 RiT 9 (sPacE ror ROUGHWORK)
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[29] (o]

oa.f PRI ¥ BN oy | f
e : N s ¢ D 104. Which of the following is 707 e

T T8 B ? _

rational number ?

(1] 15/4 (] 15/4

2] 1073 (2] 1073

4] 2174 [4] 21/4

105.° AR 10 IEGSH @ Rera T 6 g 105. If selling price of 10 articles is equal

> P % 9UEY &, o @ Sga to cost price of 6 articles, then net
RIEEIE profit or loss is :

[1] 40% & [1] 40% loss

[2] 20% @ : [2] 20% loss

[3] 10% <4 ) [3] 10% profit

[4] q @9 AT T & [4] \‘exther profit nor loss

% $4 % fdT 8 (SPACE FOR ROUGH WORK)
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PN oo w1 P g

- Cw =
102, OF 997 % 841 FmAG @ 9

2 %

U] 1200°
2] 1050°
(3] 720°

(4] 900°

[29]

P S U

: y % _;N g,‘ Laf A
108, A can complete a particuiar ik iy

20 days whereas 15 €9 complete tha
task in 10 days, Buoth worked
together for 4 days and then B leaves
the task, then how many Gays will A
take 10 complete the remaining tasg 7

{1] 12 days
[2] 4 days
[3] 6 days
(4] & days

Sum of the interior angles of 2

regular heptagon is :
[1] 1200°
(2] 1050°
[3]1 720°

[4] 900°

1% %14 % U 7776 (SPACE FOR ROUGH WORK)
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088 AR AT Vx =4, @ x oo B

[3] 512
[4] 216

e B o W N e W W 2
af @ YR @n 600 T &
s T 612 T ¥, & A A

Eﬂﬁiﬁﬂ%:

[_D]

s Al s

108, If \/7 +x =4, then value ofx 8,3

] 27
2] 729
3] 512
4] 216

If for a certain amount and same interest.
is Rs. 600 and

ate the simple interest
s, 612 of two

compound interest is 1

ycars, then annual rate of interest is

[1] 3% [1] 3%
[2] 6% 2] 6%
[3] 4% 3] 4%
[4] 8% [4] 8%

% @ @ RiQ 976, (SPACE FOR ROUGH WORK)
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110.Y g3 "ASSESSMENT" &
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[32]

ot anert
T ey F

1] 21600 20
[2] 30240 '

[3] 151200
[4] 75600

T * T T B S 12 T
€ W @ 4% H A Y, A2
I S ST B e B

[}

[1] 12,92,970
bo

[2] 12,97,920
=i o

[3] 12,02,990

ahuine

[4] 12,20,990

110,

[low many words can be formey

from the all letters  of  worg

"ASSESSMENT" ?
(1] 21600
[2] 30240
[3] 151200

[4] 75600

Find the population of a city afier
2 years which is at present 12 lakhs,
if the rate of increase is 4% :

[1] 12,92,970

[2] 12,97,920

[3] 12,02,990

[4] 12,20,990

{6 1 % T 56 (SPACE FOR ROUGH WORK)
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112. Factors of the following cxpression

(x2 = 6xy + 9") - 16

[1] (x—4) (x +4)

2] (x~y—~4)(x-y+4)

[3] (x=3y+4)(x~3y-4)

[4] (x+3y—4)(x+3y+4)
13° aR axb=a’+b* -ab,

§%7—-3%5 % AA &

[1] 41 [2] 58

[3] 64 [4] 38

114¥ 8 S, 2007 F Hi-w fo a1 ?

[1] gifFar [2] ggaX
[3] gedfE  [4] T

i

I.

et

;

will be :

(X' - Gxy+9y")~ 16

[1] (x—4)(x+4)

2] x-y-4)(x-y+4)

3] (x-3y+4)(x=3y-4)

[4] (x+3y-4)(x+3y+4)

If q#b=a®+b® —ab, then valuc of

8% T=3*5is :

{eB 1

(1] 41 2] 58

[3] 64 [4] 38

Which was the day on 8 June, 2007 ?
[1] Saturday [2] Wednesday

[3] ?’T}g.uggﬂday ~ [4] Friday

P PG

3 Fd % Qe (SPACE FOR ROUGH WORK)
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[D] 134]

‘—‘ilim%"ta%mqﬁqgﬁéﬁ
mﬁﬂﬁwaﬁmﬂ‘t.ﬁﬁaﬁmzz
(11 30 fe
2] 45 Fre
3] 60 e .
[4] 20 e

116! IR x° +hc+12, (5c +H3) ¥ h
g 8, kA=

[11's
2] 4

[3]-5 b IR
141 3 e

115 The tim

¢ taken by the minute hand

of a watch to describe an angle of

T . ‘.
2—- radlano 15 .

[1] 30 minutes
[2] 45 minutes
[3] 60 minutes

[4] 20 minutes

116. If x* +kx+12 is completely divisible
by (x +3), then value of kis ¢

[1] 5
214
3] =5

[4] 37

X% 4 %' [T 578 (SPACE FOR ROUGH WORK)
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v g
177 T @ #H HAE 15 e Tqh 117. A wirc is tied to the top of a pole
P RR A T AR Far gow B, S whose height is 15 meter and the

qA & Y 60° F BT FACM B A wirc makes an angle of 60° with the ;
P TG T ground. The length of the wirc i$ ©

[1] 307X [1] 30 meter

[2] 20V3 e [2] 2043 meter

[3] 1043 X [3] 1043 meter

[4] 303 X [4] 3043 meter

Z Ix+1

2 " e —
1us. IRy 27 3=81, FF 2> T gm 118, If 27 3 =81, then value of 2

B is :

[1] 64 [1] 64

2] 128 [2] 128

(3] 256 3] 256
[4] 512

[4] 512

I% I8 % KT SFE (SPACE FOR ROUGH WORK)
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[36]

10 &f @, ¥ . i '
[1] 152 ot
[2] 245 ot ¥h
[3] 490 @t &

[4] 560 =

e o deo P Ay AR aEEE A
74 & 29 &, & de7 H e ¥

119,

ca of 4 trapezium, whose

The ar
parallel sides ar¢ 22 c¢m and 27 cm
respectively and the  distance

between parallel sides is 10 cm, is
[1] 152 sq.cm
[2] 245 sq. cm
[3] 490 sq. cm

[4] 560 sq. cm

If mean and mode of a distribution
are 74 and 29 respectively, then
median of the distribution is :

[1] 49 (1] 49
2] 59 2] 59
[3] 62 3] 62
[#]:63 (4] 63

%1 % [C 57T (SPACE FOR ROUGH WORK)
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I ‘\fFT

(a) e A @) 1 (WETE)
FHI

(b) A P FH (i) T
(c) Beamm &1 &4 (iiiyefgdt A
FHAG

(d) STREH & I (iv) TR

[1] (a)-ii, (b)-iv, (c)-iii, (d)-i
(2] (a)-ii, (b)-iv, (c)-i, (d)-iii
[3] (a)-iv, (b)-i, (c)-iii, (d)-i
[4] (a)-i, (b)-ii, (c)-iii, (d)-iv

1-1/701

[37] (D ]
: "~V (PART - v)
. St (ENVIRONMENTA], STUDIES)
%,,.Wwvm‘mé:}q}mmmw )
Direction ¢ _{lj’iﬁ(_}m@l@‘fmlgj@suong by selecting ¢ IW gf'}q / ’
”’% N - ———— g Ve most appropriate option. . ——
121 i RN e & 7 UIEALY A 121, Which o’t' t‘hc followingﬂ c;:n:i“;m
(1] @'q 2] st lics ({rlly in Southern H'cmrsp ¢ o
r KLlicH (1] Europe (2] South Ameri
) (4] sifeferan [3] Africa [4] Australia
122" 73 .30 i m WA 8 122, Natural sources of air pollution ar¢ :
(®) . 3 R (a) Volcanic cruption
(b) ST =t 3T (b) Forest fire
(c) TR 1 Ry (¢) Decay of vegetation
(d) mﬁ REI] (d) Automobile exhausts
™R3 T & § wale @ Select the most correct answer using
ST TG Fifeq ¢ the codes given below :
[1] (a) T (b) [1] (a)and (b)
2] (2) @& (d) [2] (a) and (d)
(3] (a), (b) T (c) [3] (a), (b) and (c)
[4] (a), (b) @ (d) [4] (a), (b) and (d)
fr=fofea =t @t & 7 gﬁﬁ H 123. Find out the correct combination of

following two columns :

Deficiency Disease
(a) Lack of (i) Goiter
Vitamin A
(b) Lack of Iron  (ii) Night
blindness
(c) Lack of (iii) Weakness
Calcium of Bones

(d) Lack of Iodine (iv) Anaemia
[1] (a)-ii, (b)-1v, (c)-iii, (d)-i
2] (a)-ii, (b)-iv, (¢)-i, (d)-iii
[3] (a)-iv, (b)-ii, (c¢)-iii, (d)-i
[4] (a)-1, (b)-11, (c)-iii, (d)-iv

P.T.O,

L B o T RARE & A
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[D]
[38]
¢ .
124, Bﬂ‘:n%@m . '@_ : 124. Which onc of the following is g
i qﬁﬁ“ﬁ"ﬁ T 87 ' T artificial ccosystem 7
f 1] Sy 4 [1] Forest
g 12] s [2] Lake
f: 3] RLES By . [3] Aquarium
§ 4 '
H (4] T [4] Pond
i - |
H 125 ﬁ""ff%‘(ﬁqa S & TE & g 125. Choose the right group from th
f § R orem SHare g T following which has no fossil fuel -
3 [1] B?n,aﬁqa@ | [1] Wind, tide and sun
[2] &, W ©f P [2] Wind, tide and coal
3] aﬁﬁ, SESIRG] ﬁé 0 [3] Petroleum, wood and sun
(4] &, Hio Uqo Eﬁo‘qu. }1’4 [4] Wind, CNG and sun
(4
126." gRvs f Rt wat (Fem-1) = 126. Match the various layers of atmospher
D Torers (ag'[aq_n); | gAkm (Column-I) with their characteristics
' @ d99 3 ﬂﬁ‘{@f q (Column-II) and select the correc
S H FAg Hv ¢ .0 answer from the codes given below :
‘: FHiTH-1 HiqH-11 ' Column-I Column-II
;: (WE‘WEH &l (tr«ﬁ%gwﬁ) : (Layers  of  (Characteristics
1 I) o . Atmosphere) of Layers)
3{ (a) &fiwHT=d (1) = $ SRyl (a) Troposphere (i) Ozone is present
E (b) FHEAERTST (i) E?W TE T (b) Stratosphere (i) all clouds form
Fes here
H (c) FeFvsw (i) 7 3= oA g@ (c) Mesosphere  (iii) high energy UV
UV td X-f&et & and X-rays are
S99 2T B absorbed here
( (d) sm@ agAvEa (iv) R T o (d) Thermosphere (iv) most meteors bum
TAHT TE B o in this region
%? . e Codes :
[1] (a)-ii, (b)-i, (¢)-iii, (d)-iv [1] (a)-ii, (b)-i. (¢)-iii, (d)-iv
(2] (a)-i, (b)-ii. (¢)-iii, (d)-iv [2] (a)-i, (b)-ii, (c)-iii, (d)-iv
(3] (a)-ii, (b)-i, ()-iv, (d)-iii 3] (@)-ii, (b)-i. (c)-iv, (d)-iii
(4] (a)-ii, (b)-iv, (¢)-i, (d)-iii [4] (a)-ii, (b)-iv, (). (d)-iii

Level-1/701




121!

128,

-129.

Frafafer & - Qaer
qas b 7 Pt
URIRICIE

[2] SEelT-6

3] Ureh A wigs

[4] DMt

i & qut

Ml et S
(i) & AowsT @

W R A
(ii) 5 TRt O 9% w7 e ¥
(iif) §E TR qFT IWT 2T B
[1] g7 (&)

12] o (fe)
[3] Tewhr (Ife)

[4] W ()
fer=feiae Qe Sfm‘atr—l H ITh
T W (Fw-11) | R
g H T e & | @l ST W
T T

Hie-1 Him-11

(A 7<a) (¥)
(a) WHEEERE () Y RER iR
(b) dfeaaa (i) &
(c) SR (iii) g
(d) smEE/AE (V) T
%@

[1] (a)-iv, (b)-iil, (¢)-ii, (d)-i
[2] (a)-i, (b)-iii, (c)-ii, (d)-iv
[3] (a)-ii, (b)-iii, (¢)-i, (d)-iv
[4] (a)-iv, (b)-iii, (c)-i, (d)-ii

Level.1/701

[39]

121,

H - . Vs Y “
Which of the following 18-

biodegradable polymer ?
[1] Polythene

[2] Nylon-6

[3] Polyviny! Chloride
[4] Cellulose

Based on the following three facts

identify the planct :

(i) Itis the sccond largest pl;mcl ol
the solar system.

(ii) It has ice ring around it.

(i) Its largest satellite is Titan.

[1] Mercury

[2] Saturn

[3] Jupiter

[4] Mars

Match the  following  nutricnts

(Column-I) with their main sources

(Column-II) and find out the correct

answer using the codes given below :

Column-I Column-I1

(Nutricnts) (Sources)
(a) Carbohydrate (i) Green leafy
vegetables
(b) Calcium (i) Pulses
(¢) - Protein (1) Milk
(d) Iron (iv) Wheat
Codes : _
[1] (a)-iv, (b)-iii, (c)-ii, (d)-i
[2] (a)-i, (b)-iii, (¢)-ii, (d)-iv
(3] (a)-ii, (b)-iii, ()i, (d)-iv
[4] (@)-iv, (b)-iii, (¢)-i, (d)-ii
P.T.0O




|
(]
130" Bl & § S0, wur @ AR
ST FEF By § 7
1) amiwge (2] M
Bl amds (4] coft (dam)

pﬁsﬁm%mamﬁ?@m%
| (1] stiem
[2] @ftam
[3] Fdw
[4] wiwwrg
132.° 9 OF 099 4 § Q@7 w0 @ [
I B, & FEd 9 g (929) aren
e
(1] s (2] &t
(3] ¥ [4] sTER
: 1337 g (FEw-1) & o5 Rew
@Fem-11) & gifm PR @ AR
i BT T g § g S w T
Fram-1 Ffem-11
¥ (R ()
g (2) 2 w30 (i) fagg af= Raw
L (b) 21 A (i) Fawa o 4 R
© 59 (i) S e R
= (@) 2 v (iv) faga gt Raw
| ] (1] (a)-ii, (b)-i, (¢)-iv, (d)-iii
(2] (a)-ii, (b)-i, (¢)-iii, (d)-iv
| (3] (a)-ii, (b)-iv, (c)-i, (d)-iii
(4] (8)-i, (b)-ii, (¢)-iv, (d)-iii

Level-1/701

[40]

130, Which of the following is
indicator of SO, pollution ?
[1] Bryophyte [2] P[cridgphytc
[3] Lichen [4] Algae

by

Bone is used as a fertilizer hccausci
contains  the  following plan
nutrient :

[1] Oxygen
[2] Sodium
[3] Carbon
[4] Phosphgrus

When white light passes through :
prism the colour which bends th

least is :
[1] Indigo [2] Red
[3] Violet 4] Orange

133. Match the dates (Column-I) with days
(Column-II) and choose the correct
answer using the codes given below :

Column-I Column-I11I
(Dates) (Days)
(a) 2 February (1) World Forestry Day
(b) 21 March (i) World Wetland Day
(¢) S5 June (iii) Bhopal Tragedy Day
(d) 2 December (iv) World Environment

Day
Codes :
[1] (a)-ii, (b)-i, (e)-iv, (d)-iii
[2] (a)-ii, (b)-1, (c)-iii, (d)-iv
[3] (a)-ii, (b)-iv, (¢)-i, (d)-iii
4] (a)-i, (b)-ii, (¢)-iv, (d)-iii
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(1] 8% 2] Frim
3] o [4) =

36. TG HA g5 F A B

[1] S ad

[2] v

(3] TOFTE ad

[4] X-Ft

e S s o @ 18
nﬁ%ﬁqﬁ Fe 5z F T FW -
(a) @raFeea (i) 20 F 60 AT

(b) TFATTvEE (i) 60 & 120 f=1
(iii) g2 #1 7% |

(c) A=FvEd
20 &
o (d) FEEEEE (iv) 120 3600 T
% -

1] (@i, (b}, ()i, ()-iv
1) (i, ()i, (e}, (d)-iv
B (a)iv, (b (e}, (@)
- 141 @i, (b)-ii, ()i, (d)-v
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126.
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(93
124, Vhich one of the foftowing #s n4Z
fomsil fuct 7 ‘
f1] Compressd ¥istural Gas (€ wG)
(2} Liguid Hydrogen (1533
(3] Poly Fihylene Terhatze (PET)
(4§ L ;(m,f:ul paroleum Gz (1.96)

Which of the following eleme™
should be available in waer 5%
metamorphosis of tzdpoles ”

[1] Sulphur [2] Chlorine

[3] Jodine [4} Carbon

Radiztion with maximum penetsztion
poweris:

[1] Infrared radiation

[2] 7-rays

[3] Ultraviolet radiation

[4] K-rays

Match the various layers of atmosphere
with their approximate distance a2nd
choose the correct code given below :

(1) 2010 60 km
(i) 6010 120%um

(a) Troposphere
(b) Stratosphere
(c) Mesosphere  (iii) 20 km from
carth surface

(d) Thermosphere (iv) 120 to 600 km
Codes :

[1] (2)-ii, (b)-ii, (€)1, (d}-iv

(2] (2)-iii, (b)-i. (c)-i, (d}-iv

[3] (a)iv, (b)-i, (c)-ii. (d)-iii

{4] (2)-i, (b}-ii, (c)-iii, (d)-iv
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(@) Y R (i) awrare

85 & 20 &

() 7 A wrd (i) A,
e o A
CIlCE

(d) =1 & frowd (iv) e s

% -

[1] (a)-iv, (b)-iii, (c)-i, (d)-ii

[2] (@)-iv, (b)-i, (c)-i, (d)-iii

[3] (a)-iii, (b)-iv, (c)-ii, (d)-i

[4] (a)-iii, (b)-ii, (c)-iv, (d)-i

130" M AW H V3Tt 7 &
qrEe & safed R o 8 & 9

1 QI g 8 S B 4% g
Rra a2 Sofeefy @ @ & 7

(1] TERH
(2] ST
(3] o1 g
(4] PTE BTESTFAEE
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138, Match the BiospherC reserves given in

Column-I with the  geographicy]
location in Column-1I and choose the

correct answer using the codes given
below :

Column-I Column-|]
(a) Nilgiri Reserve (i) Uttarakhand
(b) Sunderban (ii) 20 islands near
Reserve coastal area of
Tamil Nadu
(c) Gulfof Mannar (iii) Area of Tamil
Nadu,
Kamataka and
Kerala
(d) Nanda  Devi (iv) West Bengal
Reserve
Codes :

[1] (a)-iv, (b)-iii, (¢)-i, (d)-ii
[2] (a)-iv, (b)-i, (¢)-ii, (d)-iii
[3] (a)-iii, (b)-iv, (c)-ii, (d)-i
[4] (a)-iii, (b)-ii, (c)-iv, (d)-i

When air is blown from mouth into 2
test tube containing lime water, the
lime  water turns milky.  The

milkiness is indicator of the presencs
of which gas ?

[1] Nitrogen

(2] Oxygen

[3] Water vapour
[4] Carbon dioxide
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Ferceet (’57?) SR 2 ?»I“w 9.8 140. What “will happen if AmeP‘:"f.
= SR missing in the food chain given below *
TqH - T (o !
ao T See (T - 3 ‘ Grass — Antelope — Tiger
E:g ;'51 ““f Pod r’\ - -2 3 - - . &S
U] %9 = 7502 & g & =& [1] The population of tiger increase>
» r' = = —— ) - ‘ . o
2] 7% =1 59 § =5 & 53 ! [2] The population of grass dccrﬁﬂb‘ﬁ“:
— = - ‘I -

[3] 3@ 9% == 57 = g [3] Tiger will start eating grass.

@ .-

Blama mz iz | (4] The population of ugc;
%l T 2% TEn | decreases and the population ©

grass increases.
141.7 ‘iﬁﬁ"f"f ST § Y 79 T9 8 ¢ | 141. What do you mean by balanced dict 7

(i) z5 &% & & RE= 590 18 (i) It means choosing a wide variety
§ ugw A X fem @ W of food and drinks from all food
a5 859 S groups.

(i) 2501 54 ¢ & 8 g & %1 (ii) It means eating certain things In
gEr 8§ @M §d9 999 949, small amounts such as saturated
Fiaeld, TE 95U fat, cholesterol, simple sugar ¢tc.

Giyzem &4 & & @0 SOwEs (iii)It means to take all nutrients
g% H gigald '] a% T80 which are needed as per the
EZGH required level.

(iv)25H & B % g o9 s (iv) It means long time dieting to
¥ @ 94 9% 9@ T attain balance. .

i B ™ %<l % FER W el SuX Choose the correct answer using the

F 999 Fiel - codes given below :

[1] (i) @@ (ii) [1] (i) and (ii)

[2] (), (i) T (iii) [2] (i), (ii) and (iii)

 [3] (i) @ (iii) [3] (ii) and (iii)
[4] (). (i), (i) @ (iv) [4] (i), (ii), (iii) and (iv)
Level.1/70)
‘P.--'r.'_o :
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142, I
B~ -1, names Of scientj;
o ‘ﬂ?ﬂ? Tfa 3 ™ Ry m E 142, 'in Colum? lirr\1 Column-jJ e
R o i g given and- B Yome
. discoverics arc given .
it | %hl :_f,'m_" COlumn_l Cf)lum",“
(a) 3]%}*}1-:& 0 v Gﬁin"ﬂ '(a) Alexander (1) Anthray
; i ‘  Fleming Bacterium,
",§ i b t!?qé Iy .
i ®) IR (i Py (b) Edward Jenner (i) Fermentagio,
U‘ ©) Tw T (i) el (c) Louis Pasteur (i) Penicillip
;‘ :: (d) T ﬁ'ﬂ (lV)a?ﬂS F a-q“ (d) Robert Koch  (iv) Sma”pox
Vaccine
: %:wm % T I Gt Y The correct match of the names of
0 BE scientists with their discoveries i -
'_ [2] (a)"'"s (b)-iv, (¢)-ii, (d)-i [1] (a)-iii, (b)-iv, (c)-ii, (d)-i
[3] (a)‘f’_ (b)-iii, (c)-i, (d)-iv [2] (a)-i, (b)-iii, (c)-ii, (d)-iv
l_ [ﬁ (a)"j_f, (b)-fi, (¢)-iv, (d)-i [3] (a)-iii, (b)-ii, (c)-iv, (d)-i
(@)-ii, (b)-iv, (c)-i, (d)-i [4] (a)-ii, (b)-iv, (€)-i, (d)-ii
143. IrgRvEy :
i ! % fF 2t A Gﬁ?@ﬁ:{?@ 143. Name the regions of the atmosphere
£ []“]'i'ql léiﬂgﬂ ﬁi‘iaﬁl T F B 7 where oxygen and ozone play key role:
ki Elqﬂga
i o ) FACE [1] Mesosphere, Stratosphere
Hi TS, s [2] Troposphere, Stratosphere
113 [3] am@mUEs, namvey
i (4] [3] Tonosphere, Mesosphere
i S, A (4] Exosphere, Thermosphere
194, ReliEw (W) @ies 9 © | 140 Dy
£ 1 —_— D i 3
b Femdl & Irm 98 & =R Sl:zﬁf;ib;f b‘:i::; i‘a‘es ind glasse
N ecause :
(1] 7 a-sfweta w3 A o ey ae made o mn
1 % biodegradable materials,
Ik 213 % o an o A @ 1 o ate made of matrls v
i # el
i - I 3 |
i (3] % &P ek @ = 99 Pl ey are made of biodegrde
" ¢ i
(4] % onfafy wmd § 1 A B v

l4l 'lvlley i .
¢ made of toxic materials
Level-1/701 ftoxicm
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(d) Na-Rigar (iv) TR ©@ T
1 i e Gl
T
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(1] (2)-iv, (b)-i, (c)-if, (d)i
2] (a)-i, (b)-, (c)-ii, (d)-iv
3] (a)-ii, (b)-v, (0, (@i
(4] ()i, (1, (c)-4v, (d)i

.’ i 3 - it 7

@ PR @ Sad T T ]
(1] o, @, A,

[2) e, T, R, R

(3] e, 7, &, ey

[4] ¥ew, H1Y, T, T, feger

| Level1/701
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143,

—
(=]

ol

£y atil
Match the  Global l:nvu’(mmmtt'lr
problems given in Column-l with lhclc
causes piven in Column-11 and ¢hoo?
. des
e correet mnswer using the c0%
given below |
Column-l Column-11
1] . 1] ' f
(0) Ozone layer (i) Emission Od
depletion (0, S0, 8
N0
(b) Green house (if) Lixtinction
[Jora and Faund

of

elfect
(¢) Acid Rain  (iii) Emission of
crcs  and
chlorinated
compounds
(d) Loss of (iv) Emission of
Biodiversity ~ Nitrogen and
Sulphur oxides
Codes :

Which group of organisms is not the
constituent of a particular food chain ?

[1] Grass, rabbit, wolf, lion
[2] Plankton, man, fish, grasshopper
[3] Grass, antclope, tiger, vulture

[4] Frog, snake, cagle,

grasshopper

grass,

P, T.‘O_f
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7, Which of the following is-a water

—

(-

e

ot
(3)]
=

borne discase ?

[1] Diphtheria

[2] Tetanus

[3] Hepatitis )
[4] Cough

8. Which of the following ocean lies to the
West of Australia and East of Africa?

[1] Pacific Ocean
[2] Indian Ocean
[3] Atlantic Ocean
[4] Southern Ocean
9. Spiny leaves are the characteristics
of which type of plants ?
[1] Terrestrial
[2] Aquatic
[3] Epiphytic
[4] Xerophytic

Tartaric acid is not found in :
[1] Lemon
[2] Amla
[3] Unripe mangoes.
. [4] Grapes '




